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ZO-02 
Cell Biology and Genetics 
dksf’kdk foKku ,oa vuqoaf’kdh 
Bachelor of Science (BSCG-12/16) 

First Year Examination-2019 
 

Time: 3 Hours                                   Max. Marks: 40 
 
Note:- This paper is of Forty (40) marks containing three (03) 
Section A, B and C. Learners are required to attempt the 
questions contained in these Sections according to the detailed 
instructions given therein. 
 
uksV%& ;g iz'u&i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 
[k.Mksa d] [k rFkk x] esa foHkkftr gSA f”k{kkfFkZ;ksa dks bu 
[k.Mksa esa fn, x, foLr`r funsZ”kksa ds vuqlkj gh iz”uksa ds 
mÙkj nsus gSaA  

 
Section-A ([k.M&¼d½ 

(Long Answer Type Question) / nh?kZ mÙkjh; iz'u 
 

Note:-  Section ‘A’ contains four (04) long-answer-type 

questions of Nine and Half (9½) marks each. 

Learners are required to answer any two (02) 

questions only.   (2×9½=19) 
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uksV%& [k.M ^d* esa pkj ¼04½ nh?kZ mÙkjh; iz'u fn;s x;s gSaA 

izR;sd iz'u ds fy, lk<+s ukS ¼9½½ vad fu/kZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz'uksa ds mÙkj 

nsus gSaA 

 
1. Differentiate between mitotic and meiotic cell 

division, describe different process of mitotic cell 

division with diagram. 

 lelwph ,oa v/kZlwph dksf”kdk foHkktu esa vraj Li’V 

dhft,A lelqph foHkktu ds fofHkUu pj.kksa dh fp=ksa 

lfgr O;k[;k dhft,A 

 
2. Compare the structure of animal and plant cells. 

 tUrq ,oa ikni dksf”kdkvksa dh lajpuk ds e/; rqyuk 

dhft,A 

 

3. Describe the Structure and different forms of DNA. 

 Mh-,u-,- dh ljapuk ,oa fofHkUu izdkjksa dh O;k[;k 

dhft,A 

 
4. What is genetic code? Explain the concept of 

degeneracy of codons. 

 tsusfVd dksM D;k gS] Mhtsujslh vkWQ dksMksu dh 

O;k[;k dhft,A 
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Section-B [k.M&¼[k½ 

(Short Answer Type Question) / y?kq mÙkjh; iz'u 

Note:-  Section ‘B’ contains eight (08) short answer type 

questions of Four (04) marks each. Learners are 

required to answer any four (04) questions only.

     (4×4=16) 

 

uksV%&  [k.M ^[k* esa vkB ¼08½ y?kq mÙkjksa okys iz'u fn;s 

x;s gSaA izR;sd iz'u ds fy, pkj ¼04½ vad fu/kZfjr 

gSaA f'k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz'uksa ds 

mÙkj nsus gSaA 

  

1. Describe the structure and function of nucleus. 

 U;wfDy;l dh lajpuk ,oa dk;ksZ dh O;k[;k dhft,A 

 

2. What is crossing over? Explain its mechanism and 

significance. 

 Økflax vksoj D;k gSa] bldh dk;Zfof/k ,oa mi;ksfxrk 

dk o.kZu dhft,A 
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3. Differentiate between the structure of DNA and RNA. 
 Mh-,u-,- ,oa vkj-,u-,- dh lajpuk ds chp varj 

Li’V dhft,A 

 

4. What do you understand by cytoplasmic inheritance? 

 dkSf”kdk nzO;h oS”kkxfr ls vki D;k le>rs gS\ 

 

5. Describe the structure of celia and flagella. Explain its 

function in cell. 

 Lkhyhvk ,oa ¶ysthyk dh lajpuk dh O;k[;k dhft,] 

dksf”kdk esa buds dk;kZs dh O;k[;k dhft,A 

 

6. What is cytoplasmic inheritance? 

 dksf”kdknzO;h oa”kkxfr D;k gS\ 

 

7. Explain important feature of meiotic cell divison. 

 v/kZlw=h foHkktu ds eq[; fo”ks’krkvksa dh O;k[;k 

dhft,A 

 

8. Describe the structure of a cell with diagaram. 

 ,d dksf”kdk dh lajpuk dh fp= lfgr O;k[;k 

dhft,A 
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Section-C ¼[k.M&x½ 

(Objective Type Questions) oLrqfu"B iz'u 
 

Note:-  Section ‘C’ contains ten (10) objective type 

questions of Half (½) marks each. All the questions 

of this section are compulsory.  (10×½=05) 

 

uksV%&  [k.M ^x* esa nl ¼10½ oLrqfu"B iz'u fn;s x;s gSa] 

izR;sd iz'u ds fy, vk/kk (½) vad fu/kZfjr gSaA 

f”k{kkfFkZ;ksa dks bues ls lHkh iz'u vfuok;Z gSaA 

 
Choose the correct answer. 
lgh mRrj dk p;u fdft;sA 
 
1. How many chromosomes (pair) are found in human 

body cells? 

 (a) 35  (b) 23 
 (c) 46  (d) 72 
 ekuo “kjhj dksf”kdk esa fdrus xq.klw= ¼tksaMs+½ gksrs 

gS\ 

 (a) 35  (b) 23 
 (c) 46  (d) 72 

 

2. The haploid set of chromosome one is called as  

 (a) Proteome (b) Genomics 

 (c) Genome (d) Genes 
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 xq.klw= ds vxqf.kr lsaV dks dgk tkrk gSA 

 (a) izkfVvkse (b) thuksfeDl 
 (c) thukse  (d) thu 

 
3. When is DNA duplicated in germ line cells? 

 (a) In S phase (b) In G2 Phase 

 (c) In G1 Phase (d) During Meiosis 

 teZ ykbu dksf”kdkvksa es MhŒ,uŒ,Œ dc izfrfyfir 

gksrk gS\ 

 (a) ,l Qst  (b) th Vw Qst 
 (c) th ou Qst  (d) fevksfll 

 
4. Chromotin has:- 
 (a) DNA   

(b) DNA & Protein 
 (c) DNA, RNA and Protein  
 (d) None  
 ØkseksfVu esa ik, tkrs gSaA 
 (a) Mh-,u-,-   

(b) Mh-,u-,- vkSj izksVhu 
 (c) Mh-,u-,- vkj-,u-,- vkSj izksVhu 
 (d) dksbZ ugh 

 
5. Sugar in RNA is________________the. 
 sugar in DNA is ___________________. 
 (a) Deoxyribose, ribose  
 (b) Ribose, deoxyribose 
 (c) Ribose, Phosphate 
 (d) Ribose, Uracil 
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 vkj-,u-,- esa ------------------------------------- “kdZjk gksrh gS ,oa 

Mh-,u-,- esa --------------------------------------- gksrh gSaA 

 (a) MhvkDlhjkbckst ] jkbckst 

 (b) jkbckst] MhvkDlhjkbckst 
 (c) jkbckst] QklQsV 
 (d) jkbckst] ;wjsfly 
 

6. A nucleotide consist of :- 

 (a) A sugar, a base and a phosphate 

 (b) A sugar and a Phasphate 

 (c) Paired bases 

 (d) A sugar, a base and three phosphates  

 (a) “kdZjk] csl ,oa QklQsV 

 (b) “kdZjk vkSj ,d QklQsV 

 (c) isa;jM csl 

 (d) ,d “kdZjk] ,d csl vkSj rhu QklQsV 

 

7. Lysosome is present in all except. 

 (a) Muscle cells (b) Acinal cells 

 (c) Erythrocytes (d) Hepatocytes 

 Ykbtkstkse lHkh dksf”kdkvksa esa gksrk gSa flok; 

 (a) ely dksf”kdk (b) ,fluy dksf”kdk 

 (c) ,jFkjkslkbVl (d) gsisVkslkbVl 
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8. Which of the following is the function of lysosome?  

 (a) Autophagy (b) Autolysis 

 (c) Digestion (d) None of these 

 Bues ls ykbtkstkse dk dkSu lk izeq[k dk;Z gSA 

 (a) vkVksQsxh (b) vkVksykbfll 
 (c) Mkbts”ku (d) lHkh 
 
9. Golgi complex was first recognized in 

 (a) Blood Cells (b) Root Cell 

 (c) Nerue cells (d) Skin Cell 

 Xkyxh dkEiysDl lcls igys ns[kh xbZ] 

 (a) CyM dksf”kdk esa  (b) :V dksf”kdk esa 
 (c) uoZ dksf”kdk esa  (d) fLdu dksf”kdk esaa 
 
10. The term cell was coined by 

 (a) Schwaun (b) Robert Hooke 

 (c) Bary  (d) Tatum 

 dksf”kdk VeZ fn;k x;k ------------------- ds }kjk  

 (a) lsgoku  (b) jkcVZ gqd 
 (c) csjh   (d) VkVe 

 

***** 


